A O =
ERISE 1AXRAO 7
% A
B R OR = Z it #TA Lt
X T o X 2,159 3,221 3,291 6,512 0
(A THE#HK) (943) (1, 464) (1, 525) (2. 989) 4
X # #h K 2,917 3,083 3,079 6, 162 4
X B X 487 898 844 1,742 —2
A it 4,863 7,202 7,214 14, 416 2
h R R th X 0. 144 13, 983 14,102 28, 085 16
WD R X 2,165 3, 409 3, 404 6, 813 1
N - T &t 11, 309 17. 392 17. 506 34, 898 17
M o i X 071 1,723 1,704 3,427 -9
N M X 2,593 4. 090 4,048 8,138 -5
(/N % E ) (1. 348) (2, 261) (2, 299) (4, 560) 5
8 £t 19, 736 30, 407 30, 472 60, 879 ~29
PN 192 185 294 479
@ £t 19, 928 30, 592 30, 766 61, 358
B A 11 ~10 ~26 ~36




A O =
ERIGE 2 AXAO =i
. X
R E= % it A H t
X F o K 2,161 3,224 3,291 6,515 3
(ATHE#R) (943) (1. 463) (1. 522) (2, 985) —4
X & i K 2,218 3,082 3,076 6, 158 —4
X B #h X 486 805 840 1,735 7
X &t 4. 865 7. 201 7,207 14, 408 -8
R ER # X 9,118 13. 943 14, 087 28. 030 55
MDE X 2.170 3, 408 3,410 6,818 5
N - T &t 11,288 17,351 17, 497 34, 848 ~50
M oB o X 068 1,720 1,697 3,417 10
S 2,598 4,085 4,052 8,137 1
(/N # B ) (1. 355) (2, 262) (2, 306) (4, 568) 8
& &t 19. 719 30, 357 30, 453 60, 810 ~69
TEDNEE 189 183 291 474
“ &t 19, 908 30, 540 30, 744 61, 284
M B ~20 52 22 74




A O =<
ERISE 3 AxXAO

El 78 ™
. X
Bow A ) % e A A K
X F b KX 2. 154 3. 204 3. 280 6, 484 ~31
(ARTFTERE#ME) (937) (1. 446) (1.518) (2. 964) 21
X & # K 2. 220 3,075 3. 064 6,139 19
X B i X 488 893 845 1,738 3
X & 4, 862 7172 7.189 14, 361 47
h & B # X 9,090 13, 858 13,984 27.842]  -188
WD R X 2,189 3,432 3, 426 6, 858 40
N - T & 11,279 17. 290 17. 410 34.700]  -148
M B X 970 1.716 1,699 3. 415 2
N W X 2,592 4, 050 4,034 8, 084 53
(/N # E ) (1, 349) (2, 234) (2, 289) (4, 523) 45
& i 19. 703 30, 228 30, 332 60.560] 250
TEDNEE 190 187 288 475
o i 19. 893 30, 415 30, 620 61,035
1 A L 15 125 124 —249




A O =<
ERISE 4 X AO

El 78 ™
. . X
Bow A ) 4 i A A
X T # K 2.157 3,205 3,285 6, 490 6
(ATH#R) (936) (1, 449) (1,517) (2. 966) 2
X & i X 2.234 3,082 3,069 6,151 12
X B K 489 894 849 1,743 5
X F & 4, 880 7. 181 7,203 14, 384 23
h & ER #h X 9,223 13, 959 14, 094 28, 053 211
WD R X 2,244 3,473 3, 472 6, 945 87
N - T &t 11,467 17,432 17,566 34, 998 208
B m o K 975 1.726 1.706 3. 432 17
N B X 2,586 4,033 4,018 8, 051 -33
(/N # & ) (1. 342) (2, 220) (2, 275) (4, 495) 28
& =+ 19, 908 30, 372 30, 493 60, 865 305
TN 195 191 292 483
@ =t 20, 103 30, 563 30, 785 61, 348
B A M 210 148 165 313




A O =
FRUISE 5 AXRAD | 7
. . X
Bow A ) 4 i A A
X T # X 2,152 3,194 3,284 6, 478 ~12
(ATEH#HR) (933) (1, 443) (1,513) (2, 956) 10
X & i K 2,236 3,080 3,067 6,147 —4
X B fh X 490 892 847 1,739 —4
X K &t 4,878 7.166 7.198 14, 364 ~20
h & B i X 9, 236 13, 965 14, 094 28, 059 6
WD R X 2,253 3, 481 3, 480 6, 961 16
N - T &t 11, 489 17, 446 17,574 35, 020 27
i m o X 080 1,733 1.705 3. 438 6
N B X 2,593 4,035 4,025 8. 060 9
(/N # & ) (1, 343) (2, 218) (2, 278) (4, 496) 1
& 5t 19, 940 30, 380 30, 502 60, 882 17
TN 200 192 208 490
@ 5t 20, 140 30, 572 30, 800 61,372
M OBk 37 9 15 24




A O =
ERISE 6 AR AO 7 T
. X
Bow A ) 4 i A A
X T # K 2,148 3,188 3.274 6. 462 16
(ATEH#R) (932) (1, 438) (1,512) (2, 950) —6
X & i X 2,932 3,077 3,064 6, 141 6
X B #h X 494 896 850 1,746 7
X F &t 4,874 7,161 7,188 14, 349 15
h & B i X 9, 255 13, 984 14,111 28, 095 36
WD R X 2,262 3, 493 3, 487 6, 980 19
N - T &t 11,517 17,477 17,598 35. 075 55
M B X 083 1,734 1,704 3,438 0
N B K 2,597 4,034 4,030 8, 064 4
(/N # & (1, 343) (2, 215) (2, 277) (4. 492) —4
& =+ 19, 971 30, 406 30, 520 60, 926 44
TEPNEE 206 199 301 500
@ 5t 20, 177 30, 605 30, 821 61, 426
M Bk 37 33 21 54




A O =
ERIGE 7 AXRAO 7 T
. X
Bow A ) % e A A K
X F # X 2. 147 3,180 3. 264 6, 444 18
(ATERMK) (933) (1, 435) (1, 511) (2, 946) 4
X & X 2,234 3,068 3,066 6,134 7
X A # K 494 899 848 1,747 1
X K &t 4, 875 7,147 7.178 14, 325 24
h & ER #h X 9, 265 13, 989 14,129 28.118 23
WD R X 2,262 3. 500 3, 483 6, 983 3
N - T & 11,527 17, 489 17.612 35. 101 26
B K 084 1,730 1,701 3, 431 7
N B X 2,598 4,034 4,027 8. 061 -3
(/N H (1, 347) (2,219) (2,275) (4, 494) 2
& =t 19, 984 30, 400 30,518 60,918 -8
PN 203 201 303 504
“ =+ 20, 187 30, 601 30, 821 61, 422
T 10 4 0 4




A O =
ERISE 8 AXRAO 7 T
. X
Bow A ) % e A A K
X F 1 X 2,148 3.179 3,258 6, 437 7
(AR TEREME) (928) (1, 431) (1, 502) (2, 933) 13
X & X 2,239 3,068 3,071 6,139 5
X & K 494 900 850 1,750 3
X K &t 4, 881 7,147 7.179 14, 326 1
h & ER #h X 9, 268 13, 991 14,134 28. 125 7
WD R X 2,957 3,492 3, 475 6,967 16
N - T & 11,525 17, 483 17. 609 35. 092 -9
B K 083 1,723 1,701 3, 424 7
N B X 2,599 4,028 4,024 8. 052 -9
(/N H (1, 346) (2,214) (2, 269) (4, 483) -11
& =t 19, 988 30, 381 30,513 60, 894 24
PN 209 212 302 514
“ =+ 20, 197 30, 593 30, 815 61, 408
T 10 8 6 14




A O =
ERISE 9 AXRAO 7 T
. X
Bow A ) 4 i A A
X T # K 2. 147 3,174 3,256 6. 430 7
(ATERMK) (928) (1, 426) (1, 507) (2, 933) 0
X & i X 2.9235 3,062 3,059 6,121 ~18
X B #h X 490 896 846 1,742 -8
X F &t 4,872 7,132 7,161 14, 293 -33
h & B i X 9,263 13, 963 14,119 28, 082 43
WD R X 2,959 3, 493 3,474 6, 967 0
N - T &t 11,522 17, 456 17,593 35, 049 43
M B X 085 1,726 1,700 3. 426 2
N B K 2. 602 4,026 4,021 8, 047 -5
(/N H (1, 347) (2,219) (2,273) (4, 492) 0
& =+ 19, 981 30, 340 30, 475 60, 815 79
TEPNEE 212 210 304 514
@ 5t 20, 193 30, 550 30, 779 61, 329
M Bk —4 43 ~36 79




A O =
TRI5%E 1 0 AXRAD | 7
. X
Bow A ) 4 i A A
X T O K 2,155 3.176 3,253 6, 429 1
(ATEH#R) (932) (1, 429) (1,510) (2, 939) 6
X & # K 2,230 3,058 3,057 6,115 6
X B #h X 491 897 849 1,746 4
X F &t 4,876 7,131 7,159 14, 290 -3
h & ER #h X 9, 286 13,972 14,115 28, 087 5
WD R X 2,262 3, 486 3,472 6, 958 -9
N - T &t 11,548 17, 458 17,587 35, 045 4
M B X 089 1,727 1,701 3,428 2
N B X 2. 604 4,029 4,018 8, 047 0
(/N # E o (1, 349) (2, 222) (2, 273) (4, 495) 3
& =+ 20, 017 30, 345 30, 465 60, 810 -5
TN 218 208 308 516
@ 5t 20, 235 30, 553 30, 773 61, 326
M Bk 42 3 —6 -3




A - =
FRI5E1 1 ARAD | 7
. A
B R B % it #A K
A F # K 2,168 3,185 3,248 6, 433 4
(KRTFTR#RX) (935) (1,431) (1,508) (2,939) 0
K F # K 2, 231 3,063 3,053 6,116 1
X B # X 489 890 848 1,738 -8
X K& 4,888 7,138 7,149 14, 287 -3
R BR o X 9, 292 13, 961 14, 099 28, 060 217
DR it X 2,262 3,483 3,475 6, 958 0
N - T 11, 554 17, 444 17,574 35,018 27
Mmoo X 990 1,725 1,701 3,426 2
N 2, 603 4,025 4,012 8,037 -10
(/) #& i (1, 350) (2,222) (2,212) (4,494) -1
& &t 20, 035 30, 332 30, 436 60, 768 42
s EANE & 220 205 307 512
% it 20, 255 30, 537 30, 743 61, 280
B A i 20 -16 30 46




A O =
TRISE 1 2 ARAD | 7
. A
R B % it #1A k.
A T # K 2,181 3, 207 3, 262 6, 469 36
(KRTFTHER#MEKX) (933) (1,427) (1, 505) (2,932) =1
X F # K 2, 229 3,053 3, 053 6, 106 -10
X A # K 486 887 847 1,734 4
A Gt 4,896 7,147 7,162 14, 309 22
f R ER #h K 9, 301 13, 956 14, 115 28, 071 11
o R R 2, 254 3,476 3, 459 6, 935 23
N - T &t 11, 555 17, 432 17,574 35, 006 12
O o X 992 1,725 1,701 3,426 0
N 2, 603 4,020 4,009 8, 029 -8
(/D # H e (1, 354) (2,222) (2, 215) (4,497) 3
& = 20, 046 30, 324 30, 446 60, 770 2
s E A E & 221 211 308 519
# &t 20, 267 30, 535 30, 754 61, 289
BB & 12 ~2 11 9




